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CEpy |

H(YNE (297)
sk = k[COT"[NO,

. 0.10" x0.20" _ 0.0080
0.10"x0.10"  0.0020
. 0.20" x0.20" _ 0.0080
©0.10"x0.20"  0.0080

S (D EL2)HBER L =2"=4=n=2

=2"=1=>m=0
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m=0>n=2

FQ/IVE (25)
B ¢ = KNO, |

RAZE(DAHEDE > 0.0020 =k x(0.10)*
k=020 (M"'s™)

FCYNE (297)
&[CO], = 0.40M -~ [NO,],, = 0.10 M & >

]

2 FERT 32 = 0.20% (0.10)* = 0.0020 (M/s)
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FHAYNE (257)

FHEEA1(E 25 °CHE >k, =3.0x102 M/atm
Sco, = ki x p=(3.0x107 M/atm)x (2.5 atm)
= (0.03 M/atm) % (2.5 atm)
=7.5x107 (M) =[CO,,,, ] = 0.075 (M)

FHQYNE (257)

CO + HZO“) @ T HCO3(a‘q)

[H+(BQ)][HCO3(;Q)] — [H2C03(aQ)] ™ [HZaQ)][HCOX;Q)]
[CO2(’O\Q)] [COQ(aQ)] [H2C03(a¢1)]
=K, xK,, =(1.6x107)x(2.5x10*) = 4.0x10”

.
= H

2(aq)

FHEYNE (257)

COyy + H)0,, = Hg, + HCOy,

7.5x10° M X X
[H+(aQ)][HCO3(;q)] _ X-X _ )(2

[COsq)] 7.5x107  7.5x107
X= [H+(aq)] = (40)( 10*7 x7.5% 1072)1/2 — (30)( 1078)1/2

=1.7x10"* M

K=4.0x10"7 =
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